6N3 - Determine the value of each digit in numbers up to 10 000 000

1248000 1842500

WIREEEa e ol tis Radel RECC i What is the value of the underlined digit?

200,000 248 2 248,000 2000 ~ 2500 ~ 200

C) + 300,000 + 80,000 = 1,380,000 6,000,000 + 900,000 + CJ = 6,910,000

What is the missing number? SO B s AR T e

A number has A number has
one ten thousand one thousand
seven hundred thousands seven hundred thousands
four millions five millions

What is the number using digits? What is the number using digits?




